Final Review
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Evaluate each expression. Show work.
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For problems #15-19 Solve each absolute vahxe«equauon or ineq
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Solve each inequality. Graph the solution.
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Solve: - % x> y /m
23 —6<6c+6<12 > 24. —5b>40 or3b+6>0
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Find the slope and y-intercept of the following:
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is 33 3 % of 1'.&0? 31. What percent of 33 is 22?
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Write an equation for the line in slope-intercept form that passes through the given point and Is a) parallel to
the given line and b) perpendicular to the given line. Show all work algebraically.
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